CE 323
Mid Exam 1* term 1445 H / 2023
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l) How is fluid compressibility estimated.
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3) Give an example of a reason for energy loss and one for energy gain.
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Ar=dm?,y, =2m/s
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» A2 =3m2 ( open channel )
Find difference in potential energy between the 2 points:

2- What force water carries in flow direction.

3- If this flow drains in a lake with volume of 10000™
time required to fill it.

{) Pat&h{in\k enovgy Aikference -

3) sabs b kwke 2
s e
I T
2x9.8)
4
%t . &
tzwaﬂ"f f’-—=——_ "';;;M
23981

-{orcg* {?t P@ ﬂvldu.ﬁ
ekt = et
b |

4 ) L] o
D o Wiy Timps L = = 250 g

¢

3 how mu

i5

==




